Notes For August 30 and September 1

before 1: The Differential Expractions

Solve: thdMM the following quadratic expression $x^2 - 3x + 2 \neq 0$ $x^2 - 2x + 2 = (x - 1) + 1$ $x^2 - 3x + 2 \neq 0$ $x^2 + 1 = 0$ This has x = 1 and x = 2 $x = 1 \text{ a$

Lesson 3Ai true Differential Expressions

Let
$$f(x) = \log x = y(x)$$
 and

 $f'(x) = \frac{1}{x} = y' = \frac{dy}{dx} = D_x f(x)$

$$f''(x) = \frac{1}{x^2}, \quad f''(x) = \frac{2}{x^3}. \text{ etc.}$$

$$f''(x) = \frac{1}{x^2}, \quad f'''(x) = \frac{2}{x^3}. \text{ etc.}$$

$$f''(x) = \frac{1}{x^2}, \quad f'''(x) = \frac{2}{x^3}. \text{ etc.}$$

$$f''(x) = \frac{1}{x^2}, \quad f'''(x) = \frac{2}{x^3}. \text{ etc.}$$

$$f''(x) = \frac{1}{x^2}, \quad f'''(x) = \frac{2}{x^3}. \text{ etc.}$$

$$f''(x) = \frac{1}{x^2}, \quad f'''(x) = \frac{2}{x^3}. \text{ etc.}$$

$$f''(x) = \frac{1}{x^2}, \quad f'''(x) = \frac{2}{x^3}. \text{ etc.}$$

$$f''(x) = \frac{1}{x^2}, \quad f'''(x) = \frac{2}{x^3}. \text{ etc.}$$

$$f''(x) = \frac{1}{x^2}, \quad f'''(x) = \frac{2}{x^3}. \text{ etc.}$$

$$f''(x) = \frac{1}{x^2}, \quad f'''(x) = \frac{2}{x^3}. \text{ etc.}$$

$$f''(x) = \frac{1}{x^2}, \quad f'''(x) = \frac{2}{x^3}. \text{ etc.}$$

$$f''(x) = \frac{1}{x^2}, \quad f'''(x) = \frac{2}{x^3}. \text{ etc.}$$

$$f''(x) = \frac{1}{x^2}, \quad f'''(x) = \frac{2}{x^3}. \text{ etc.}$$

$$f''(x) = \frac{1}{x^2}, \quad f'''(x) = \frac{2}{x^3}. \text{ etc.}$$

$$f''(x) = \frac{1}{x^2}, \quad f'''(x) = \frac{2}{x^3}. \text{ etc.}$$

$$f''(x) = \frac{1}{x^2}, \quad f'''(x) = \frac{2}{x^3}. \text{ etc.}$$

$$f''(x) = \frac{1}{x^2}, \quad f'''(x) = \frac{2}{x^3}. \text{ etc.}$$

$$f''(x) = \frac{1}{x^2}, \quad f'''(x) = \frac{2}{x^3}. \text{ etc.}$$

$$f''(x) = \frac{1}{x^2}, \quad f'''(x) = \frac{2}{x^3}. \text{ etc.}$$

$$f''(x) = \frac{1}{x^2}, \quad f'''(x) = \frac{2}{x^3}. \text{ etc.}$$

$$f''(x) = \frac{1}{x^2}, \quad f'''(x) = \frac{2}{x^3}. \text{ etc.}$$

$$f'''(x) = \frac{1}{x^2}, \quad f'''(x) = \frac{2}{x^3}. \text{ etc.}$$

$$f'''(x) = \frac{1}{x^2}, \quad f'''(x) = \frac{2}{x^3}. \text{ etc.}$$

$$f'''(x) = \frac{1}{x^3}. \quad f'''(x) = \frac{2}{x^3}. \text{ etc.}$$

$$f'''(x) = \frac{1}{x^3}. \quad f'''(x) = \frac{2}{x^3}. \text{ etc.}$$

$$f'''(x) = \frac{1}{x^3}. \quad f'''(x) = \frac{2}{x^3}. \quad f''''(x) = \frac{2}{x^3}. \quad f''''(x) = \frac{2}{x^3}. \quad f'''''(x) = \frac{2}{x^3}. \quad f'''''(x) = \frac{2$$

leader in the servester ar hetrons will have two or more varieties $f(x,y) = \cos(x^2 + y^2)$.

Then me will talk about pertual differential equations; $\frac{\partial f}{\partial x} = f_x = -2x \sin(x^2 + y^2)$. $\frac{\partial f}{\partial y} = f_y = -2y \sin(x^2 + y^2)$. $\frac{\partial^2 f}{\partial x^2} = -2x \cdot 2y \cos(x^2 + y^2)$.

etc.

Detn1: let f = f(x) be defined an an interval $I = a \times x \in b$. By an ordinary differential equation we mean an expressive invaling x, the shortent f(x) and its alenthes.

Examples: 1. y' + p(x)y = q(x) when p : q are $2 \times y' - 4y + 2x^2 + 4 = 0$ 3. $y' \cdot y' + y^2 + 2x = 0$ 4. $(b^{(4)})^{(1)} + y = 0$

The order of the DE is the lightest ode of the dematre unalred in the execution. 1 -> First order DE 2 -> Protode DE 3 -> Second order DE 4 -> Partu order DE. Solution of the DE, Rember that when we have or allegebrain equations xxxx+1=0, we can slow that x=1 π a solution, tract means when you also two two equations then got about x=3 into two equality helds. $3^2-23+1=0$: the approachy helds. In a smile Raveline ne mel say frant fex) Es a solution of a differential agreetives It should soutsday it! Example: fex) = x2 is a solution to the DE $x^2y'' - 2xy' + 2y = 0$

Somee f'(x) = 2x f'(x) = 2Use trese to substitute into the different of $x^2 \cdot 2 = 2x \cdot 2x + 2x \cdot x^2 = 2x^2 - 4x^2 + 2x^2 = 0$ is a solution to Merce flx1 = x2 the obove DE. Defin. "Solve a DE" or "find a solution" to

DE " ne meaning find a freshor

y(x) which solves tre DE. Example: Verty trait the frether Letted by $y=x^2-60cx200$ is a solution to

(y") $^{3}+(y')^{2}-y-3x^{2}-8=0$ Solution of the substitute y = 2x y'' = 2Substitute thin into ordere DE; $(2)^{3} + (2x)^{2} - x^{2} - 3x^{2} - 8 = 8 + 4x^{2} - x^{2}x^{3}$ there y= 2 13 a solution t

#ADDAM Shappen

Dohn! let f(x) be defined on ocxcb We say trait &Cx) is an explicit solution or suply a solution of DE

F(x,y,y'--- y")=0

F(x, fex), f(x) -- f(x))=0. for eny x∈ I.

Praple: Show that

 $y = \frac{1}{x^2 - x - 6}$ is on explicit solu

to $y' = (1-2x)y^2$. Find the longest interval that the solution is defined containing 0.

Solui. Since $J = \frac{1}{x^2x-6}$ trend

 $F(x,y,y') = y' - (1-2x)y^2 = 0$

and $y' = -\frac{1}{x_{-x-b}}$. 2x-1 = (1-2x), y

Epurality y'-y (1-2x)=0

· Hence $F(x_1y_1y')=0$. Rubere y^* is solution